
SGT-1213 - 

VE 

APB-1213  

SERRA TICO-TICO 

www.sigmatools.com.

br 

06/02/2018 
Rev.: 000 

 

Item 

 

Código 

 

Descrição 

 

Item 

 

Código 

 

Descrição 

 

Item 

 

Código 

 

Descrição 

1 07 52 12 1143 Lâmina 14 07 51 12 1314 Conjunto  Segurança 27 07 51 12 1327 Bucha da Válvula 

2 07 51 12 1302 Rolamento 15 07 51 12 1315 Parafuso M3x3 28 07 51 12 1328 O-Ring 12,5x1,8 

3 07 51 12 1303 Parafuso M6x8 16 07 51 12 1316 Carcaça 29 07 51 12 1329 O-Ring 4x1,5 

4 07 51 12 1304 Mandril 17 07 51 12 1317 Capa Emborrachada 30 07 51 12 1330 O-Ring 4,5x1,8 

5 07 51 12 1305 Mola 18 07 51 12 1318 Cilindro 31 07 51 12 1331 Haste da Válvula 

6 07 51 12 1306 Capa do Cilindro 19 07 51 12 1319 Vedação 32 07 51 12 1332 Mola 

7 07 51 12 1307 O-Ring (9,5x1,8) 20 07 51 12 1320 Tampa Traseira 33 07 51 12 1333 Ajustador 

8 07 51 12 1308 Cilindro 21 07 51 12 1321 Parafuso 2,5x16 34 07 51 12 1334 O-Ring 5,6x1,8 

9 07 51 12 1309 Arruela Guia 22 07 51 12 1322 Pino do Gatilho 35 07 51 12 1335 O-Ring 11,5x1,6 

10 07 51 12 1310 Pistão 23 07 51 12 1323 Mola 36 07 51 12 1336 Parafuso Tampa 

11 07 51 12 1311 Mola 24 07 51 12 1324 Gatilho 37 07 51 12 1337 Arruela 

12 07 51 12 1312 Apoio da Máquina 25 07 51 12 1325 Parafuso 3x16 38 07 51 12 1338 Entrada de Ar 

13 07 51 12 1313 Parafuso M3x12 26 07 51 12 1326 Parafuso M3x18 

AMERICAN PNEUMATIC DO BRASIL LTDA 

http://www.sigmatools.com.br/
http://www.sigmatools.com.br/

